s

(%=X 3)

% % TRH29OFEELESEERLEARERE MREBF F70R2ESEFRELFEHAREFIERS
-~ - > =+ . =
MEFR FTESRER AR s |ERRE) B M
A B Z&m A 1 2 3 4 5 6
= AE ik | K4 B4 | ik | K& e | k| K& 4 | k| KA 4 | Eofk K#£ e | ik | KA B4
5/21] _100m| 64] 23 | 11.12] ;ZF(3) |[BZE| 11.23] AHG) M= | 1125 F=2Q) =me| 1127 P50 |Z= | 11.40] FEQ) =%L| 11.46] k2 | =Hme
5/22]  200m| 49| -19| 22.46] EFIQ) BEE| 2265 FBE52) |®R= | 2290 mEEQ) &2 2293 AEFG) EZE | 2303 HEE@) |4 | 2304 FiEQ) |SHE
5/200  400m| 49 4746| EF|Q) |BLE| 4877 T EQ) |B= | 4957 HE(3) |X1& | 49.84| FH(Q2) |4k | 5047 =&(2) |LtiE#| 5049 MAAR@Q) |F
5/21|  goom| 42 20053 #AKR3) | 20097 [WA(3) |=4NE| 201.03] /PHN2) |HAIT| 20145 HFF(Q2) HEE| 20159 FAQ) |t | 20175 HiFQ2) |R=
5/20] 1500m| 49 40410 =2&3) [BFEHI| 40443] FEFQ) B 40580 FAKE) |[masz| 40020 BHAG) || 20992] FHAQ) [t | 41173 BHEFQ) |/NE
5/22|  5000m| 31 15:09.83) =&(3) |:BF#i|151848| HEAG) =E1E|152349] FEHQ) |ZEE[1543.70] BARG) =& [1544.40] &FH@Q) |BEI|154483) FNLEQ) =HEE
5/20 110mH| 9| -0e | 1570 UARQ) |BZ2| 15.75] &H(2) |4 | 16.10] FAQ) |=x2| 16.36) #(@B) |[MZ | 1655 #K(@) |&xI| 1689 ®|IIN) |SxI
5/21|  400mH| 18 56.28| FFHH(3) |F= | 56.74| FEFT(3) |tik| 56.74] (2 |BZE| 5737 FBHG) |SEI| 5790 #Kk(©2) E%I| 5872 &FH(©2) |t
5/213000msc| 17 9:51.00| EIFQ) =42 |95678 F2) |EHE|95756| THII() |[F= [100567 HEQ) |&&I[101426) JI|IEF(1) |[EE0E|1021.87) Er(1) |[/hiE
5/20 s000mw| 7 21:3821| Bpkt(2) |2 (304445 W) |[E&1T[31:1085] /NAQ) |[ZE1T[31:43.77] EF(B) |BFH]
BAR0) FaFR(3) EFI3) KEQ) ERA) EXE(3)
16 FEQ) |y HIE(3) TIENE) R — SATEF(3) s hEQ) | EH(3) .
5/20/4 % 100mR (0., 4235 =812 SHE| 42.84 ) TiE | 42.88 R ESE| 42.95 ) ME | 43.12 k() =41T| 43.26 =H @) TiER
LF©2) EEQ2) HKR(2) i (2) =1E5(3) E&3)
= H#h(3) FIWEQ) EH@A) =452 PR ER(3) AA(3)
14 EEQ2) BERG) | e IT=TC) N . EH(3) oo | o #k@) | _ EFH®O) e
5/224x400mR(83) 3:19.60 HAZ2) Ti&E | 32023 RO BZE| 3:2045 RE() SHIE| 3:24.02 BEG) T k38| 3:27.25 IINA(2) ST 3:27.41 HHG) k=
HIE(3) tA(3) FER2) E3=16)) ER®1) EE0)
5/21 & B 10 1m90| ZE#N3) [BZE| 1m80| =#F(3) |th#t | 1m75| HEEF(1) |SHE| 1m75 ERQ) |BZE| 1m70| (1) A2 | 1m60| LUAQ) |EBFaET
5/20# = B 5 4m50| FH@Q) |M2Z2 | 3m40| FHE0) [/MFE | 2m30| KFH(2) |BFH]
5/20[% 18 Bk 36 omor/+14 | BRREN(3) |LiEBR|omeov10] AIEFR) [FAZE [omesr4| EHQ) [LfEB[omsr2]| HBEQ) BRI [emervwo]| BFFEQ) [FE |emes21]| MHAQ) [EFHI
5/22|= B B 21 umoi21 | ZRER) | EERIE[ 1oz FEEQR) [BEII|smervn7| BHA) |FE [emases | FEF() [1BZE | mmezis2 22 8& |ewsqs] EOQ) [B@mA5
5/21[/8 A 1% 22 14m32| MIBQ) [BHE[12m17] UEEQ) [FZ [11m88] WIAR) |FZE [11m70] BARQB) |z=w#re|11m59] TFEEQ) |[FZE [11m54] ILEHQ) |BHE
5/21|@ #& 1% 23 37m42| Thi&(3) |SH1E| 34m93| EAR(S) |z=wmre| 32m47| {LEE(Q2) |FMZE | 30m69| #EIR(3) |x=w~r|28m90| JIIAB) [#E |28m33| ILAR) |z=wrE
5/20| "o <—1] 18 48m35| XFHQ) B 33m78| BEARQ) |z=wre|3imie| AFQ) EF |[31m07) fEHEG) |4 | 30mo4| #ER(S) |z=wre| 26m84| TTIEQ) SXE
5/22/% vy & 23 55m50| FXHEEQR) |EEE|53m23] FHEG) |FZE [50m24] #02) [+ |48mde| FEF) =% | 46m88| E#(1) [&4%1 | 45m64| ARH2) |&501T
5/21)\ 5 3 ] 12 4169| #EFF(1) |SxE| 4145 HHEO) [/MNE 4042) FA(Q) [EFH1| 3930 BR() [:EEFHI| 3660 #FHQ) [ME 3388] $BE() |=HE
e 5 BB 1628 HHR 87m Fk TR BER 4R BHEI 50/ BFAI 3R ]
) RSl 101E] BEE 59m| BmET 4m| WBEE 334 B 31m tik 25m| IBFAI
2o g [2AMF 50m| SHE 4955 [FES BVR| BEHTE 23m| EZE 188 ko] 158 BHI
T ® NEE s =HE 1145 BFam A 5h mE
EMEFREAO T B AK JE Gl EE im | i E[X &y 7ravay
[%Bﬁﬁﬁx%ﬁﬁw%ii%’&ﬁm £ 1 H| 1200 ggi 2.3m/s 26.0°C 49% Ef E&? NPOEA B50BE FHERIGS
2N 30 % % 2 A| 12:00 7 [ 06m/s 255°C 54% (5 oF =
SmAZ 315 & F 3 B[ 1200 m 09m/s [ 27.0°C 43% g Rt REETE A ILth
% 4 H| 12:00 o % B OTE
=5 Al 1z EHE_ BHo =@

OZOHERIF1MREDIE, QUE1—2—4THHLAN




(=K 3)

t ? TH29OFELESEFRLEARTRE BRRXEUT F7O0RLESEFFERELHREAREFIERR
s - > =+ . —
MEFTFEREFEZREER pErgay |PERRE) B A
A e M an| 1 i} 2 i 3 i} 4 i} 5 _ 6
= AB L8R K& B4 | B K& B4 | Bk K& B4 | K& B4 | K& B4 | FEk K& (&S
5/21]  q00m| 47|22 | 12.69] FEE?2) [EZ | 12.97| K@) |RE | 1297 #EQ & 13.20| LLUME3) |t4E%k| 1325 #M&(2) |t4& | 1331 #FHAR) |/IE
5/22|  200m| 44|-14| 2598 THHE(?2) FZ | 2640 REQ) |tikx| 2653 #HE(Q) |FE 2657 fEKQ) |&B= | 2722 EHQ) |tk | 2725 WEQ) tik
5/20 400m| 28 58.05| ERA(3) |Ltik%k| 59.08| FHEEQ) |Li&E%k| 59.51| EH(Q2) |Xi& 59.70| XJI() |/hiE 59.95| thHE(2) |tikck]| 1:0224] ¥WFHEQ) A2
5/21  goom| 24 22007 HEQR) [/hiE | 22129 HEQ) [1BSE| 22499 EARQ) [IUE | 22593 {EHEQ) AR | 22675 HEQ2) |F= | 22842 FE(Q) |HFt
5/20 1500m| 24 44277 FE)IE) [IUA | 44628 BFAH3) |IUE | 44834 EAR(Q2) [ILA | 45308 FEQ) |BEE|45347) f2HA) [ELE| 45509 EOQ) |HF
5/22|  3000m| 16 10:03.41 BpFF(3) |IUA |10:0874) KIF(2) |IUEA |102837] {EH) |BLE|10:39.94) (REE(Q) |:BFHi|104324) FEOQ) |4 |1057.12) FEQR) |WLHA
5/22| q1o00mn| 14|11 | 16.02] FREQ) EBFaI| 1641 WHQ) M2 | 1721 ERQ) |ti&Ex| 1743] FFEQ) |[dft | 1747] BHRQ) |[BFt | 17.72] EHQ) [BF§l
5/21]  400mHu| 10 1:01.49) 2EQR) |tik%k| 1:0430] FHEAQ) |LiE%k| 1:0434| thHQ) |ttek| 1:0505) #FHEB) FL | 1:00.23] KBTFQ2) /N2 | 11619 Q) |BFAT
5/20| s000mw| 9 24:3281 ZEQG) [lWW@A [263153] WEQG) |2 |[285355] ®WJI3) |BF#T[2:2546) LIEQR) |22 333565 L AIRQ)|F 33:37.04| KIE(2) |[FEZ
AE(2) NT10) MFHQ) ZE(2) FARO) AITE(3)
15 LLIIE(3) TEH(2) FEHEH(2) - a2 INBQ) | ARG |,
5/204><100mR(88) 49.13 EHG) TiE%&| 49.35 WEG) TiE 49.72 == (2) = 50.07 SA0) 3] 50.20 K3 = 51.21 =Hh(3) B F I
£50Q) 5hi#E(1) KR(@2) R (2) INEF(1) BE5(2)
FHEE) FAIE(2) XJ1I(3) KR (2) ZE(2) 5k (3)
N AN
5/22|4 x 400mR (;g) 3:54.39 Au;ugg TiE%&| 40164 ﬁ;‘;g; Tk | 403.95 i;g; INE | 404.90 ?;gg; [fZ | 406.10 zgg [£3] 4:07.31 ;::;L]’\’E?i T=
£50Q) FARE(3) HIRE3) MFHQ) RAa0) Ee Y NE))
5/21 & ®| 14 1m63| EIUEB) | KA | 1m60| EI(2) |tiE%k| 1m48| FF(2) |[SHE| 1m40| #(Q3) |&fE | 1m40| £FE@) [/ME | 1m40| Q) |FE
5/21 = B 02 2m00| AME() [TFE | 1m90| /ME(2) |BFAET
5/20|% 8 B| 33 sme3/+14 | FrRE(3) 3BT smerv00 | LIEF(3) | LikEc[smasroa| INER(1) |FE [sm2om00| FIEH2) |TBE  |sm2se23| FEEQ) |FZE |swiimz| EHQ) |EHI
5/22|= & B 14 tmre+1s | FRER(2) | EEIE [ 1mesros| BREA3) [RBERT|1mer| BARQ) |TBE || FIHEQ) |TBE  |wmesor| TITR2) |SEN |1omeorz| INEF1) |R=
5/22/|m 4 | 19 11m80| JLfE(2) |&%| 10m56) FEE(2) BFAT| 10m04) HEN) B 9m95 ME®R) A 9m21| WARQ) [FF | 9m00| ERH(2) EZE
5/200m #& # 19 33m94| FEH(2) |:BFAiN| 28m95| JLRE(2) |EHEEE| 26m74| t)I(2) |TEE | 26m34| FHJI(1) |:BFHI| 26m37| FHEQ) |FE 22m97| BEM(2) |EHE
5/20(\v2—1%| 14 28m13| FEM(2) BFAI| 27m70| HHh(3) |EHIE| 22m33| FEQ) |HIE | 22m20| JLREQ2) |EHME| 22m07| HEHFE(Q2) EHE| 20m94| FH EON) |
5/21% Yy 1 19 39m64| UAR(2) &t | 38m47| FH L) |FF 37ma4| AFH(3) |EHT| 36m89| [LIE(2) |[EHIT| 36m84| #A(3) |EEIT| 35mi4| /MIIG) |HiER
5/20| 1& 55 | 6 3440| WUAR(2) |t | 3357 KJR(2) |2 | 3145 #I(1) |BFHEI| 2844 Eih(3) BFHEI| 2713] FAK (1) |1BZE| 2605 FEH2) |&H
e & & & 95| BFHI 94| t#X 0= @E 53m| WM 49| it MR BRR
7 S 16m| kX 57/ & = 53/ =) 33|  BFHI 314 Ti& 295, rhAt
o % T4—ILE 51m| BFHI ME SHE 34 BE 208| @mET 18| LiEX = 2]
Bl TR 18] BFE 8 &t 75 FES 4m] BEE 38 =40
N FEAEE E = F=1H = o, F 1‘E %
HERFERND TR AR 5l Bl EJE A B HES HEREEEE S
[(MEFEXLHMOFRLFESE]IE 1 H| 1200 gg; (2).3m;s 26.0°C 49% ’rzf gg
YR 27 ¥ ¥ 2 BH| 12:.00 6m/s | 255°C 54% 5 -
S MAK 186 & ¥ 3 H| 1200 5 09m/s | 27.0C | 43% ThEE BiF AL 8% E £ A I
% 4 H| 12:00 s % B OTIE
% 5 H 12:00 = ¥ £ Eh =g

OZMBERIF1EMRHE DL, (T

\l

Ea—%—3$THHLA])




